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abjectis armis collis aut noectis quae jam aderat auxilio integri abeunt. Elephanti quatuor capti,
reliqui omnes numero quadraginta interfecti.

7. Write the ordinals, distributives, and numeral adverbs of quatuor and quadraginia; also
of IX., XIX., and XXIX. - .

8. What cases may be represented by the infinitive of a verb? Give examples.

GREEK.

1. Translate—

Qs pdro, peidnoer ¢ Hed Aevkohevos "Hpn,
Medjoaoa 8¢ mados é3éfaro yept kvmeldov.
Adrap & Tols dAAotar Geols &vdéia waow
Olvoydet, yAukd vékrap dmd kpyrijpos ddpioowr.
YAoBearos 8'dp’ vdpro véhus pakdpeaar Beotaw,
Qe BBe; Hepoworov dua ddparae wourviovra.

Qs 2o re p&v wpbwav fHpap és Héhov kaTabivra
Aalvovt’, 0B8é Tt Bupos édedero Saurds &os,
0d piv pdppryyos mepualléos, v & "AméAhav,
Movodwr 8, of dedov dueBopevon émi kakyj.

2. Decline waow, yAvkd, pdpuiyyos, 1v.

3. Give the Greek cardinal numbers from one to twenty.

4. Write out the present indicative active of vifyw, the imperfect indicative of eiufl, the first
aorist indicative passive of Tirrw, and the first aorist indicative middle of rirrw. Give also the first
and the second aorist participles active of rémrw.

5. Translate—

To 8¢ adumar SHhos v Kipos oreldur macay m)y 68iv kal ob SarpiBey Smov py émomiopod &vexa
7 Twos d\Aov dvayxalov éxalélero, vopiluv, bow pév dv Oarrov o, Tocolre dmapuckevactorépy
Baoihél payeicfu, Sow 8¢ oxohabrepor, Tooolrey whéov cuvayeipesfar Lacidel orpdrevpa. Kai
ovvidely 8 Ay 76 mpooéxovte Tov vovv 7 Bacihéws dpxy mAife pév xdpas kal dvBpdmwy ioxupd odoa,
Tols 8% pajreat oy 686V kal T6 Seomdofar Tis Svvdpes doflends, € Tis Sud Toxéwy Tov woAepov woLoiTo.

6. Give the syntax of 636y, dvaykaiov, mpooéxovri, Svvdues, dolevys.

7. How far does the last sentence in this extract agree with statements in other parts of the
book ? .

FRENCH.

1. Translate—

Un jour Canut le Grand, roi d’Angleterre, était sur le bord de la mer avec toute sa
cour. Ses courtisans lezaltatent comme le plus grand des monarques, et Uappelatent le
maitre de la terre et de la mer. Canut saisit cette occasion pour confondre ses flatteurs
et leur prouver qu'il n’était pas le dupe de leurs sots discours. Il s’assit sur la plage.
La mer montait ; il lni commanda de s’arréter et de respecter le souverain de 1'Angleterre.
Tia mer montait toujours, et véint mouiller les pieds du monarque, qui fut obligé de se
retirer. Alors Canut, se tournant vers ceux qui 'entouraient, leur dif: “Vous wvoyez la
faiblesse des rois de la terre; apprencz que la puissance des princes est bien peu de chose,
et qu'il n'y a d’autre maitre que Dieu qui gouverne I'univers.”

2. Write the third person singular of the present indicative of the verbs in italics in the above

aSSage.
P 3. Name the prepositions which must be repeated before the words they govern. What
mood do they respectively govern?

4. The following words have each more than one gender: give their meanings according to
gender: aigle, mémoire, mode, personne, souris, tour, voile, somme.

5. Translate into French: (a) You do nothing but complain; (b) You have only just com-
plained ; (¢) The shoe hurts my foot; (d) That house is larger than I thought it was.

6. Give the English for—(a) Il m’importe peu; () A 'abri du danger; (c) L'un chez V'autre;
(d) Le long de I'ean.

7. Write a letter in French to a friend : choose your own subject.

TRIGONOMETRY.
1. Prove Tani A TaniB Tan%C:%, r being the radius of the inscribed circle, and s half the
perimeter.
2. Prove—

Sin 15°=% 4/ (2— v/3).
“Sin 75°=%+/(24 v/ 3).
Tan 15°=2— /3.
Tan 75°=2+ +/3.
3. Given the base of a plane triangle, one of the angles at the base, and the sum of the other
sides, to resolve the triangle.
4. Express the angle subtended at the centre of a circle by an arc which is equal in length to
the radius, and show that it is an invariable angle.
5. The circular measure of the difference of the two acute angles of a right-angled triangle

is i%: express the two angles in degrees.
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